[ Efficiency vs vertpos |

~0.02

18- fooeeeiees

...................................

...................................

...................................

..............................

bhoen] 0 o4

P

0.6f{---------1 H SRR R 1 B PR PEE PR PR
1072 107 10 0?

TP vertr (cm

g Mé gégzﬁ;c 'éwte:ILess
ici = DQM 1T 1
@ —— D Mg ggS_TTh aultNEWTOLDSAMPLE
1

[ Efficiency vs. sim PV z |

TP vert z (cm)

~ 0.0

............

.......................

.............................

0.8f ==} - -

......................

-10-8 6 4 2 0 2 4 6 8 10

Sim. PV z (cm)

10 20 30




	Contents
	Page 1


